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import java.awt.*;
import java.awt.event.*;

import java.lang. Math;

public class MyChangeEngj extends Frame implements Runnable
Ay 22 2D X912 D
{
Thread myTh;
NUITESET %
Button[] myBtn;
MTESETD
Panel myPanel;
MTESETD
int imgNo;
Image[] img;
VHITHEET S
MediaTracker myMt;
TRy —RTESTS
int flag=0;
double r;

int ct1;
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long t; /1'E 2
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int d=0; 1850 &%
D%

int ct; "= A v
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int min=0; 1] BB
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int N=1000; IhHR
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public MyChangeEngj(

{

setSize(300+10,360); 7 L—LDRE S
addWindowListener(new WindowAdapterOt 17 L —ADERH

public void windowClosing(WindowEvent e){

System.exit(0);

}
s

myTh=null; A v ROFHE
if (myTh==null) AL ROFERL
{

myTh=new Thread(this);

myTh.start();

}

/IsetBackground(Color.magenta); IS S BDE

int count; "Hv—=>7">5v 4

imgNo=0;



img=new Imagel[2];

s

img[0]=Toolkit.getDefaultToolkit().getImage("coin1.jpg");
FEG O FEIR AR
img[1]=Toolkit.getDefaultToolkit().getImage("coin2.jpg");
HHEG OFEIR AR

myMt=new MediaTracker(this);
T —DFERE

for (count=0;count<=1;count++)
{
myMt.addImage(img[count],0);
A= DL T

H

try

{

myMt.waitForID(0);

H

catch(Interrupted Exception e)
{

H

myBtn=new Button[4];
myBtn[0]=new Button("Init");
myBtn[1]=new Button("High speed");
myBtn[2]=new Button("Low speed");
(3]

myBtn[3]=new Button("Stop");

myPanel=new Panel();
myPanel.setLayout(new GridLayout(1,4));
for (count=0;count<=3;count++)

{
myPanel.add(myBtn[count));
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¥
setLayout(new BorderLayout();

add("South",myPanel);

myBtn[0].addActionListener(new ActionListener(){
public void actionPerformed(ActionEvent e){
flag=0;

r=0.1;

repaint();

b

1)

myBtn[1].addActionListener(new ActionListener(){
public void actionPerformed(ActionEvent e){
flag=1;

N=100;

repaint();

H

1)

myBtn[2].addActionListener(new ActionListener({
public void actionPerformed(ActionEvent e){
flag=2;

N=1000;

repaint();

§
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myBtn[3].addActionListener(new ActionListener(){
public void actionPerformed(ActionEvent e){
flag=3;

repaint();

h

1

}//public void init()
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[k public void run() h J V] b
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public void run()

{

while (true)

{

try

{

myTh.sleep(N);

H

catch (InterruptedException e) {}
if (flag==1 | | flag==2)
{

repaint();

H

H

H

[FHFFAE public void paint(Graphics g) A ) ) b
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public void paint(Graphics g)

{

if (myMt.checkID(0))

{
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if (flag==0)
{
g.clearRect(0,0,300,360); IEXNOY e

ct1=0; IEXLAEIE



d=0; 11839 FROEER D HIHHL

min=0; IBLRE 5T O 80 88 0D s vy 4 BRI SR
DYIHL

g.drawString("Number of guests="+ct1,100-10,110); IIFEBREEE D FRIR
g.drawImage(img[0],135,30,this); a4 v DFER

g.drawString("Coin",135+1,75);
g.drawString("Number of change (500 yen coins) ="+d,80-35,140);

g.drawString("Maximum required number of change now="+(-1*min),20+5,170);

g.drawString("Copyright(C) Sohun 9.2022",80,320);//{E#& #E /R~
}I1f (flag==0)
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else if (flag==1 | | flag==2)

{

ct1++;

g.drawImage(img[0],135,30,this); //=2A > DFEIR

g.drawString("Coin",135+1,75);

g.drawString("Number of change (500 yen coins) ="+d,80-35,140);

g.drawString("Maximum required number of change now ="+(-1*min),20+5,170);

g.drawString("Number of guests="+ct1,100-10,110); [IEBRREIE DR R

g.drawString("Copyright(C) Sohun 9.2022",80,320);//{E# F /R~
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for (ct=1;ct<=3;ct++)

{

g.drawImage(img[0],135,30,this);

for (t=1;t<=3000000;t++){}

g.drawImage(img[1],135,30,this);

for (t=1;t<=3000000;t++){}

}
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r=Math.random();

if (r<0.5)

{

g.drawlmage(img[0],135,30,this);//Z 23 Hi 7=

d=d+1;

H

else

{

g.drawImage(img[1],135,30,this);//ZE 3 H 7~
d=d-1;

h

g.clearRect(0,100,300,60); IR E 2

g.drawString("Number of change (500 yen coins) ="+d,80-35,140);
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if (d<=min)

{

min=d;

}

g.drawString("Maximum required number of change now ="+(-1*min),20+5,170);

g.drawString("Number of guests="+ct1,100-10,110); [IEBRREIE DOFRR

jilelse if (flag==1 | | flag==2)
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else if (flag==3)

{

g.drawImage(img[0],135,30,this); /=21 > DFIR

g.drawString("Coin",135+1,75);



g.drawString("Number of change (500 yen coins) ="+d,80-35,140);

g.drawString("Maximum required number of change now ="+(-1*min),20+5,170);

g.drawString("Number of guests="+ct1,100-10,110); IIFEBREEE D FRoR

g.drawString("Copyright(C) Sohun 9.2022",80,320);//{E#& #E R~
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if (r<0.5)

{

g.drawImage(img[0],135,30,this); 1703 7=

§

else

{
g.drawlmage(img[1],135,30,this); [1EE N H 7=
¥

g.clearRect(0,100,300,60); IR E 2
g.drawString("Number of change (500 yen coins) ="+d,80-35,140);
I1BRs 5 C g0 $5(5 0 0 M) D f i o BHE S o0 H 7

if (d<=min)

{

min=d;

}

g.drawString("Maximum required number of change now ="+(-1¥*min),20+5,170);

g.drawString("Number of guests="+ct1,100-10,110); [IEBREIE DOFRR

{lelse if (flag==3)

$1if (myMt.checkID(0))



}//public void paint(Graphics g)

[FEFEE public static void main } ) Y b
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public static void main(String[] args){
Frame w=new MyChangeEngj();
w.show();

}//public static void main(String[] args)

}/fpublic class FTurisen2 extends Frame implements Runnable



